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Simplified reading and comprehension Unit 1

Answer key

Comprehension 1

1

10
11
12

13

v representing a unique cultural tradition

v’ containing the most significant natural habitats

v" exhibiting great architectural achievement

archipelago

the impact human beings make on the environment (any reasonable answer)

because the Taj Mahal was built in memory of the emperor Shah Jahan’s wife, who died in

childbirth (any reasonable answer)

B
3
2
4
1
i) NG
i) T
iii) F
Athens

to provide information about some unique destinations (any reasonable answer)

C

(i) wildlife (iv) temple
(ii) tortoises (v) name
(iii) weigh (vi) death

i) awe-inspiring
i) multifarious
iii) whopping

iv) array

v) showcased
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